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(i) Answerall questions ’

(i1) In each of the question 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you
consider is correct or most appropriate.

(ii1) Mark a (X) cross on the number corresponding to your choice in the answer sheet
provided.

(01) The first scientist who introduced the electro magnetic induction to the world is,
(1) Einestein ' (2) Michel Fharaday
(3) J.J. Thompson ' (4) Ohm '

(02) Some statements about viruses are given below. N
A - Canbeobserved only through the electronmicroscope. ‘
B - According to the location it exhibits the characteristics of living or non living.
C - Somemetabolicreactions occur within the virus.
Ofthe statements given above the true statements are, -
(1) AandB only () AandConly
(3) BandConly - ~ " (3) A,BandCall

(03) Electronic configuration of an atomris 2,8,8,2. The element must be
4 36

M PN @ “ca ¢ *He @ * Ar
. 10 20 2 : 18
(04) Acertain fruit shows the characteristics given below. -
*  Pericarpis fibrous. '
e  Hasair filled shells.
- —Seed coatisthick. "
- What is the dispersal method of the above mentioned fruit?
(1) byanimal 4 (2) bywater
(3) by explosive mechanism (4) bywind

(05) Whichone ofthe following shows the Lewis structure of methane

MCH, @ H @ H @ ®
H’.‘)(();H H;C:H H—(II—H
H H H

4063

-0i-


https://pastpapers.wiki/

" (06) What is the method smtable to obtam pure copper sulphate from impure copper sulphate o 3

crystals. Lt
(1) Crystalization (2) Solventextraction
(3) recrystalization (4) ' physical separation

Out of the following answer which one show the correct
wire connection ina three pin plug.

(1)  A-earthwire, B - neutral wire, C - live wire - S ;
(2)  A-neutral wire, B - earth wire, C-livewire: ... B :

(3)  A-livewire, B-neutral wire, C - earth wire T :
(4)  A-neutral wire, B -live wire, C - earth wire

4}

(08) Whatisthe abeolute zero in Celsius scale e L -
(M 27315 2 0 : (3 100 - O 27315

(09) In a moving bus, a person who is standmg close to the engme feels very warm.. The
method of heat transrmssxon from the engineto the person is through.
(1) Conduction =~ ' - (2) Convection _ 5
(3) Radiation ’ (4) Conductionand convectlon

——p C H O, + 6CO T
@ o Caloroptil T ) | -
According to the above equatlon select the. result of destroymg plants :
(1) Increase of CO, percentage and decrease of O, , percentage in the atmosphere
(2) Decreaseof CO, percentage and increase of CO, percentage inthe atmosphere

(3) Increase of the supply of food for all organisms inthe envuonment
'(4) Having balanced CO,and O,amountinthe atmosphere. - -

- Sun light
(10) 6CO, +6CO2 e

R (11) WhatlsthecommonformulaforAlkanes" g

(1) CHgy.p @ CH,
(3 CHgpry @ ,CI,H,.

3

."(12) Outof'the follo“ﬁngsituationwhich’oneshowsthe-highestmemepth;p:}—%4‘—“;‘*“"”"“‘“—'—”’*'"”‘"" :

-1

vl(l)__o_.i‘“s‘__. B ) O&i» o '» R ‘f

Skg | | - bk
— ems” ' 3 5ms’ -
3) ( }“ ’ _ / (4.) . B
404
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(13) Selecttheincorrect statement regarding the animal cell and the plant cell.

Animal Cell o o Plant cell

(1) | Chloroplast are absent. | Chloroplast are present.

) Cytoplasm' has taken more space. Cytoplasm has been pushed to

periphary of the cell.

3) Some time large vacuoles are present A large central vacuole or many small
R vacuoles present.

(4) | Cell wall is absent. AU Cell wall is present.

(14) Given below are few characteristics of a ﬂoWer found by a student when participating in
afield trip.

Selectthe correct statementre gardmg the ﬂowers
(1) ‘Aisamonocotflower . (2) ‘AandBbothare monocot flowers
(3) Aisadicotflower (4 AandC botharemonocotflowers

(15) Whatis the number of C__Oz-molecules in 88gof’ C.Oz. »

[y 6.022x10"%88 = . (2) 88x44x6.022x10”
f©) 6022x10”?< B "('4)”6.022x10”‘x44 o

(1 6) Which ofthe followmg shows the inhibitor, that reduces the rate of reaction
6)) Afewdro psof sulphuric acid'is used to dissociate hydrogen peroxide. -
(2) Afewtodropsof manganese dioxide is used is dissociate hydrogen peroxide.
(3) Nickelis used in manufacturing margarine by hydrogenation of unsaturated fats.
(4) Porous iron is used in habour process of manufacturing ammonia.

(17) Acharactenstlc of X -1ays , '
(1) Needa rnedlum to travel and travels with the velocrty of hght _
2) Do not need a medium to travel and travel s with the velocity of light.
(3) Needa medmm to travel and do not travel with the velocity oflight.
(4) Do not need a medmm to travel and do not travel with the velocity of light.

, The dragram shows a candle 15cm away from the concave
rmrror Select the characteristics of the | 1mage formed.

~ I S (1) real, upright ‘

L ‘¥ (@ virtualupright

f } " (3) real, upsidedown

«<10cm-»  (4) virtual, upsidedown

asy

405 .
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(19) Select a respiratory disorder due to the dlstructlon of cilia and collection’ of mucos and

dirt particles in the respiratory tract,
(1) Commoncold (2) bronchities
(3) Silicosis : (4) Pneumonia

(20) Out of the | following which one shows the detailed explantion of a person's blood
pressure which is 120/80 mmHg.
(1) Systolicblood pressureis 120mmHg and diastolic pressure is 80mmHg -
(2) Systolic blood pressure is 80mmHg and diastolic presgure”ls 120mmHg
(3) diastolic blood pressure is 120mmHg or 80mmHg '
(4) diastolic blood pressure is in between 80mmHg and 120mmHg

(21) Selecta polymer with cross links.
(1) Polythene _ (2) Polystyrene
(3) Vulcanized rubber (4) starch

(22) Outofthe following statements which statement is correct regarding the enzyme
(1) Thereare enzymes without any protein components
(2) Theactivity of enzyme is to catalyze the bio - chemical reactions
(3) Enzymesare useful inmaking structural components
4@ Enzymes do notactivate if the temperature isless than the body temperature

(23) A solution of volume 250cm’ was made by adding 25cm’ of pure acetic acid. What isthe
volume fraction of acitic acid in this solution?
(1) 0.1 @ 05 - (3) 10 . @ 25

(24) The equation which shows the motion of a meving object. (m =mass, V = velocity)

- P Ve s WP £\ o s AN

\1) LAY B T Ly g Y N ) _l_ﬂ . . ) (q.) V

(25) A conductor placed perpendicular to a rnagnetic ﬁeld moves When a current flows

through it. Which law indicates the direction of the motion of the conductor.

(1y Ohm'sLaw » . (2) FlemingsrighthandLaw
(2) 'Flerriing lefthand Law oo (4) Maxwell'scorkscrewrule '
(26) _ | v The dlagram shows how the forces are actmg on an
. ﬂ__ ' |, 5N ©object which is kept on a smooth surface Select the
X correct statement.
? ‘ — N (1) ObjectX doesnotmove.

(2) Object X moves towards the force 17N
- (3) Object Xmoves towards the force 7N
(4) Ob; ect X moves towards the force SN

406
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U]

* Study the above reflex arch and select the correct answer.

(28)

@ 9)

(1) A-Sensory neuron, B - Motor neuron, C - Intermediate neuron
(2) A-Sensory neuron, B - Intermediate neuron. C - Motor neuron
(3) A- Motor neuron, B - Intermediate neuron, C - Sensory neuron
(4) A-Intermediate nemjon, B - Sensory neuron, C - Motor neuron

decending order of the rate of reaction

g .
I T I
: ) CBA
' (4) ACB :
A / B / C , g

Conc. HNO, dilute. HNO, Conc.HNO,
(8cmy’) (8cm’) (8cm’) -

Givenbelow are 2 energy reactions that takes place inanorganism.
A - Glucose+Oxygen —-Carbon dioxide + Water + Ennergy

‘B - Glucose — Carbon d10x1de+EthylAlcohol-lenergy

Select the correct statement.
(1) A showsthe anerobic respiration and energy productlon ishigh. -

- (2) B ‘showsthearobic respiration and energy productionisless.

(30)

(3) A shows the metabolic process of ox1dat10n of SIrnple food and energy production
- ishigh

(4) Process B shows the complete break down of glucose molecules where process A

~ shows _meo_n.lpletelpfeak doyyn of glucose molecules.

Out of the following select the plant tissue and its
. function using the above diagrams. .
1 A- Xylem tissue - translocation of’ food
" (2) B-Phloemtissue - providesrigidity
. (3) B-Xylemtissue - translocation of food
: 5 (4) A-Xylemtissue - providesrigidity

40%
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G1)

Zink __|
piaie

)

< Connecting

A - Oxidation takes place at the zink plate
wires Znacts as the anode.
B : Reduction occurs at the copper plate Cu
| Copper acts as the cathode. '
plates C - Standard current flows through the

connecting wire from Zink to copper

Dilute sulphuric acid
Out of the statements A, B and C which one is correct regardmg the simple cell.

AandB

(2) BandC

(3) AandC 4) A,BandC

(32) Whatisthe compoundin which the octate of the electrons is incomplete?

(33)

(1)

CCl,

+—— 2m ——>

@ co,

(3) AlCy, @ N,

The figure shows a gate with mass of 25 ON What is

the moment of it if 40N force is exerted on it by
_pushing?
H-< (1) 500Nm
:){IE (2) 80Nm
© (8 {290Nm
(4) 130Nm

(34) What is the current flowing through 1 OOOW immersion heater ifi itis supphes 230V‘7

)

N6

(3%

100 x 230A : ‘ @ 230 A
RV 1000
1000+ 230A : (@) 1000 A
: . 230
— | Carbon .
o rods -
) 1 | |
Sohfltion T -

- Accordmg to the expenment ngen above select the correct answer from the table given’
below ' B

ol

@

()
(4)

‘ ‘. - s olut1 on _VVhethéf the bulb nature of .the honds of ,
: tHuminates or not .__the solution _
Distilled water illﬁniihate co - valent bond.
Salt solution illuminate ionic bonds
Sugar solution do not illuminate ienie bonds
Ethyl Alcohol . | illuminate co- valentbonds -
o

Grade 11 - Science 1 - Western Province
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(36) Given below is a result of explanations of patterns of inheritance usmg probabxhty
symbols for colours of beads. R=red W=white :

| | RR | RW W wW
IstGroup | THLMRLIN | THUTHCN | L THL L
2st. Group H‘H THl ”I THl H‘H ”” TH\L TH*L lll _ H‘LL TH\L

> of the data givenin the table above what is the genotypic ratio of F, generatlon accggdmg
to the Mendal's monohybrid cross? : s
(1) 1:1:1 2 2:1:2.° (3 1:2:2 4 1:2:1
(37) ,=——=p———=—=——  Whatis the water pressure exerted on the object in the
- 5:_0‘_5151 e 'E':_‘ iaf_erzz g diagram? Density of water (1000Kgm™, G= 10ms™)
100cm)= -~ - =--Z--- (1) 15000Pa
-CoIo-objeet-t-Z-Z 0 (2)  10000Pa
TITIZIZIIZIIIIIZ () 150Pa
4) 5000Pa
(38) P Q Select the correct statement regarding the above circuit.

A - Thebulbdoesnotlight
B - Thebulblight
C - Whenchangingterminals of Q the bulb starts to hght

-

(1) Aonly - (2) AandBonly (3) AandConly (4) A,B,Call
(39) Inwhich staternent sdeS ihe diseases eradicated in Sri Lanka according fo WHC (World |
-Health Organization) report. . : ‘

(1) malaria, filaria, polio

{2 déngue; chickengunya, tuberculosis
(3) malaria, tuberculosis, chikengunya
(4) filaria,rat fever, polio '

S {40)—6utﬁof -the—following -which -one-is not expected 1in- sustamable development and
' environmental management?
© (1) Useofmulti crop cultivation instead of mono crop cultivation.
(2)' Usé of agro chemicals for biological pest control
(3) Reforestation dueto equilibrium of environment
. ~ (4) Engouraging the use of organic fertilizer’ '

469
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Answer alb questions of mrt YA in the given space. Answer three questions of part "B Submit answer papers
| F

forparts "A" and " B" together.

Part A - structured essay

(01) (A) Sri Lankan irrigation system is one of the unique water management systems.
Historical large tanks in our country is identified as a great technical attempt. Given

below 1s a picture of the main parts of a tank

Out prll!/ & (1)~ .What 1s the reason behmd constructms{ tank

gwen below

(@) Blsokotuwa -

............................

...........................

..................................................................

....................................

(i) Write the main function of the part of a tank

...................................
...................................

....................................

(iii) A food chain function in the tank area is given below c_oniplete.. fh,e food chain

by using suitable organismis.

“aquatic plants — tad poles — -

................................

(iv) Draw arough diagram suitable
- toillustrate quantitatively the
organisms in the tertiary level
ofatank.

w Al

Oy
Oy

(23

)

(33
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(B) (i) Tankisaan example for an eco system In relation to the tank define the term

'eco system'.

..............................................................................

(ii) Itwas noticed that a large amount of algae were growing on the tank due to the
effluent released to the tank by a close by factory.
(a) What is the name given to this CONAIIONT 1. eveevveeirreerieieereceesneerereeicenssanans

(b) Name two 1ons collected in the water as a result of the above mentioned

»condition. ‘
(C) Number The graph shows the number of rabbits
SOOt ‘ living in the natural reserve in wewa ismatta.
Answer the questions according to it.
2507 (i) What is the period that shows a high
growth rate of rabbits?
2007
. revbeeecrasrorasersatiasetersasraassreEr et e s s s secets
1007 (ii) Write 2 reasons for the change in the
i , number of rabbits in year 2005.
50
» Year .
2001 2002 2003 2004 2005 rivesesesievetsreinerasarrassorsasasarsasserivisannaasareas

-(02) (A) Given below 1s an apparatus prepared to show the factors needed for

photosynthe51s

@® " What is the factor needed for photosynthesis
tested by the leaf 'a'?

T T L LR RR TR AT Y AR SRR A A A e

(i1) Name the organelle thatdo photosynthe51s in
aplantcell.

.....................................................................

(iii) Whatcompound is produced here? ......................................... :

(iv) What is the tissue in the human body that transports the gas which is absorbed

by NaOH? .....ocuuueeenrnnnee

B T T LI T EES LA S S LR AL A AR ASAAA AR
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(v) After some time it was noticed that the tissues and tips of the leaves had died
identify the relevant mineral for the above mentioned deficiency.

—

tube

j¢—— glass tube

Coloured

Lo water Lo
germmatmg seeds germinating seeds

(1) Of the setups 'A' and 'B' Identify the Experimental set up and control set up

i Experlmentalsetup ettt ra s

Ce Controlsetup " et ettt

(i) ‘Whatis the function of KOH? ......ocooovrvirii ettt '
PR b (!Ht e

(i1i) Why does the coloured Water travel up the glass tube?

..........................................................................................................................

(iv) In germinating seeds what will happen to the seed in development other than
the growth of cells. .

.........................................................................................................................

©)

IONN O )
’ @ Given above are animal tissues. ‘Write the correct letter tha lepicts cardiac’
muscle tissue and tissues in the wall of blood capillaries.
@ Heart - e r e s e e st e s b seen e eeaeenae :
o Wall of blood capillaries = .......ccocrvveeievemervererenn. et e

-(3- 4—‘ 2
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(iiy Of the above tissues which tissue does not become fatigue quickly and is
controlled involuntarily?

(i1i) Name the tissue with aspindle shape. ... reres e e,

(03) (A) The graph illustrates variations of the first jonization energy of few elements
belonging to the second and third periods respectively and they are not real symbols

for elements.

first jonization
(KImol™)

» atomic number

(1) Placethe elementsA-Jinthe periodic table given below.

(11) Define the term the "First lonization Energy".

L R R L R L L T L T T T T T T v

D T T S R E S L L Supup e R A SV R

.........................................................................................................................
.........................................................................................................................

.........................................................................................................................

-04- Grade 11 - Science If - Western Province
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(B) Following experimental setups represent corrosion of iron.
A B SN

Fe \@/mg @1 @Cu

Petri dish (Potasium Ferri cyanide +

Phenopthaline + NaCl) .

(i) After some time which set - up shows the blue colour around the ironnail.

.........................................................................................................................
.........................................................................................................................

..........................................................................................................................

(C) The diagram shows the electr()lysm of CuSO, solution using carbon electrodes in
the laboratory o
l I

- Copper Sulphate -
Solutnon

(i) Which letter shows the cathode of th]S setup‘7

............................................................................................................................

..........................................................................................................................

...........................................................................................................................

Grade 11 - Science II - Western Province
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(04) (A) The figure shows the setup which is used to observe an image formed wen a lighted

(B)

candle is keptin front of a bi convex lense. ¢

AT 1¢r\ |

2F ) \
[ P (pole)
(i) Canthe image be formed on the screen or not when the lighted candle ismoved

from F (focus) towards P (pole)?

(ii) Sketch the ray diagram to show how the image is formed by the lens when the
candle iskept in between Fand P.

(111) Write 2 characteristics of the image formed in the above ray dxagram

e S P e s Eerenae s e e e e B el En ) I s000e0se0ataNelIesEtINeser0eIetr el INESITNtesveesanaanselsstesPRAbanItIINITETETI RSN ObLS

..........................................................................................................................

..........................................................................................................................

ad . Y

7,2 I T .
\1) .Lu u C UU_V: WAave Wlubll ICNCISSiOwa byblc or dIl Ubb.li‘ (] 14

3

...........-.nuu-nu-n-u .............................................................................................

(u‘) Explainthe term ‘Vave leng’f "inawave.

..-....-....n--n.....----n.....--u...--..u.--..n........-.--.............-......n...-.-u-..n--.....-......-.---...

-(C) Musical instruments can be classified according to the way it generates sound.

(1) Clasmfy the musmal instruments and write an example for each.

..........................................................................................................................

..........................................................................................................................

(11) Explain the reason why adrum generates loud sound when tapping strong and a
$ound when tapping slowly

Y L T T T T T T L L R LR L AL R e
............................................................................................................................

R L I T T L LR R AL LR LA A A A A AR R A
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Paper Il . : RN
Part B - Essay .

e Answer three questions only.

(05) (A) Thediagram below shows an internal section of a human digestive systen.

Iood caplllanes
plnIL ermal

(i) State 2 characteristics of this structure Wthh is adapted to increase its
efficiency of absorption. :
(i) Which part of this structure absorbs the end product of protein digestion?

(iii) Write 2 adaptati_ons of the respiratory surfaces for efficient gas exchange.

(iv) Write the balance chemical equation for respiration.

) When the selective reabsorption takes place in‘the excretory system name 2
substances which isabsorbed again in to the blood cap1llar1es"

(vi) Name aheavy metal that has been identified to b,e.contrlbutmg to CKD.

(B) (1) Nameiwo organisms who belong to domain bacteria.
(ii) Name the organism that contributes to form licans with fungi.
(iii) State two Homoiothermic groups of animals. - : - -
(iv) Write2 advantages of grafting and budding;: ,
(v) Inwhich part of the female reproductive system, does fertilization takes place?

(vi) Mention 2 genetic disorders due to sex linked inheritence.

(06) (A) Given below are four conical flasks thh 250cm’ solutmns preparcd in the

laboratory.
@‘ (b)‘ (C)‘ A
CuSO solution Aquous lodine dilute HCI NaOH solution

(1) Write 2 physical characteristics of above solutions which show that they are

homogenous mixtures.
416

Grade 11 - Science II - Western Province
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(11) 0. Smoldm NaOH solution is contamed in 250cm’ of conical flask. Calculate
- the mass of NaOH needed to prepare the above solunon
(Na=23" 0=16"H= 1)
(iix) Write the steps ot prepar:ng 250cm’ of NaOH solution in the laboratory.

@iv) What is the suitable method of separatmg Iodme from an aquous Iodme
solution? R
™ (v) Explain the way of separating Iodine from the method mentioned by you in the
above question.
(vi) () Write the balanced chemiical equation for the reaction between HCl and
NaOH. ,
(b) What type ofa chem1ca1 reactionisit?
(c) This reaction is considered as a neutralization reaction. Explain the

reason for this.

“B) @) Suggest a substance which should be added to decreases the acidity of the
soil.
(i) When dissolving '20g of urea in 180g of water, the'tempetature of the solution
decreases by 5°C. ‘
(a) What is the heat change that occured dunng the reaction. Spec1ﬁc Heat
Capacity of water is4200JC kg
(b) Write 2 assumptions you made there.

(07) (A) The diagram below shows the flight ofa hawk who landed instantly after seeinga -

rabbif_Ittook the prey and ﬂP\‘l] hack to the clev

WA W AW u;s)

(1) Calculate the potential energy of the hawk when it is 150m above the earth.
The mass of the hawk is 1800g. ’

(if) The hawk starts its flight instantly from Test. It flew 5 seconds w1th umform
acceleration of 4.8ms® and mamtamed its veloclty for 3 seconds unt11 it
reache& the prey inalinear path. '

~(a) Findthe veloclty the hawk within the first5 seconds ,
- (b) Whatisthe displacement of the hawk whenitflewin acceleration?

(c) Findthe total displacement ofthe hawk during the 8 seconds.
-08- ﬁ \q Grade 11 - Science II - Western Province
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(d) Draw the velocity time graph to show the ﬂlght of the hawk durmg the 8

seconds. : :

( ii) ( a) The Drev with a mass of 600g fell down to the earth. Draw the velocity
time graph to show the movement of the prey falling down to the earth
fromrest.

- (b) Briefly explain the Newton's law relevant to the above incident.

S~
- <

. (¢) Mention the reason, for the prey to stop, after being drawn to a certain
distance when it fell from the sky.

(B) The diagram belowr shows the mass of aman with 50kg fishing in a boat with a mass
of 150kg. Answer the following questions according to the information given
above. ' ' '

gt
(i) - Drawthe forces exerted on the boat when it is floating.
(n) Write 2 characteristics of the above mentioned forces.
. (m) Calculate the displaced volume of water when carrying 300kg of fish by boat.
(densny of water is 1000kgm %)

(08) (A) The figure showsanelectro cardio gram of a healthy person.

R

(i) Mentionthe 'letters that show the Atrial contraction and ventriculat éontraction-
separately. ' o

(i1) The endocrine system of the. body secretes Adrenalm Hormone. What is the
function of the hormone and which gland secretes it?

(iii) If fertilization does not occur in the female reproductive system which
hormone comes down in the blood.? - E

43
-09- Grade 11 - Science Il - Western Province
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®B) @) Name 2 main biological molecules in the lining matter.
(i) Mention 2 reasons for selecting garden pea plant for mentel's experiments |
about inheritance. , '
(iii) What changes will hapj en to the ovaina garden pea pod after fertilization ?

(C) The circuit given below demonstrates a certain process of an electronic apparatus.

" | B

A N

1
B!

9v

e >C828
S
C A

(i) NameA,B(B,,B,)and Capparatus.

(i) What s the change that you expect to happen in B, and B, in the circuit if'S'
switch is closed and both LED s are illuminated?

(i1i) What function does the above circuit demonstrate?

(iv) When's' switch is opened B, LED extinguishes. Explain the reason?

(D) What is shown in the figure is a simple circuit prepared by.a group of students to
provetheohm'slaw ,

(i) State what P 5 Q, R, Sare.

(ii) Name the apparatus A. h : . N

(iii) Draw asuitable table to indicate readings of A and B apparatus.
* (iv) Drawa sketch graph of the readings obtained above.

(v) Forwhatpurposeis the accessory T installé_d inthe circuit? _

(vi) Find the value for P QR and S apparatus if a current of 3A is given by 6V cells. :

418
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(09) A Givenbeloware structural formula ofthree organic compounds.

H\C%C/H }‘1 11{ Ix{};] H\C:C/H
H”  SH  H-C-C-GC-H p7 Ny -
A H HHH e s

(i) Name the hydrocarbon. ,
(i1) Group A, B. and C compounds according to the numbét of bonds between
— carbon atoms. o '
(iii) Find the molar mass of molecule "B"
(iv) (a) Name the bondtypes ofthe above mentioned compounds.
(b) Write'acommon feature of the above mentioned bond type.
{v) (a) Name the polymerproduced by "C" when polyrﬁerization
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occurs.
(b) Draw the structure of the above mentioned polymer.

(B) The diagram illustrates a model of the set up that can be used to study electro
magnetism e :
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(i)  Write an observation when inserting a bar magnet into.the coil
(i) Write another method of operating this set up to get the same observation
~ mentioned above.

(C) The set up is changed by placing two dry celis instead of the galvanometer and a
compass instead of bar magnet. v
(i) Mentionan observation made by you just after placing the compass.
(i) Write the reason for the above mentioned observation.
(iif) Write 2 methods that can be used to increase the force according to the
observation. '
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(D) The coil gets heated after connecting the dry cells.
(i) Writea change that can be done to the setup to get more heat.
~ (if) Nameanalloy instead of copper that can be used to get more heat.
(iii) Stateaproperty of the you mentioned above alloy which shows that
ismore suitable. ' .
(iv) Name an electric applince made by using the above method.
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